W (32 30009 {4z 70009 )
~ 52 40009} } )

@ (sz 90009 62 )

- H 6z 30009} )

@ 4%,6% 20009, 63 1000<, 63 2000 <
@ 4Z,6% 10004, 63 10002, 6% 1000 %
® 42,6229, 6320009, 6% 2000

@ 4%,6% 30009, 63 1000<, 6% 2000 <

® 4%, 6310002, 63 10002, 63 2000 <






[ Jetel e S22 0 g AL oln AU
90008 & %
9900+ &

100002
9990R [ |& &
9999R [ &
@ 1000.10.100.1 @ 10000.1000.100.1
® 1.10.100.1000 @ 1000, 100, 10,1

® 10000, 1000, 100, 10




10000°] 25 —

{F

o

|
o © o
o o o
S o oS
S S —
o
—

10] 7




e[ ool 9Ee 2 ARz 2 AL o= AU
1070200090006008
= 1000000000000000 + | |+ \
490000000 + 6000 + 8

@ 7000000000000, 200000000000
@ 70000000000000, 20000000000
@ 70000000000000, 2000000000
@ 7000000000000, 200000000

® 70000000000000, 200000000000



i
oo
Sl
>
ol
in
ru
=

il

Q)
486 < 1000 Tt

©
573 9FC] 10000 Hj




10z

O 3=
»8'—]1—

® 2%
=

@ 2%
,IX



8. 2% 1200 ¥l A 4000 A 4H-S Hoj M AH Lupr} B =] 7514
2.

D L
-



@ o 4Z=180°

© o &Z=270°




SHA] 2.

=

el 3o]

@80+20=] |

©240 + 60



D 60 =30 @ 120+ 60 ® 120 =40

@ 180+ 90 ® 100 + 50



12. [ sl

SR A

F e

@ 457 3 |24 62 © 457020 5 [ o
© 457 Je8 327 I

® 96,0 26,00 ® 6,00
@ 0,60 ® 00,6



13. o= FolA At 237t A4 A2 o= AdU7t?

@ 3% Z+35°-220° © 137Z+85°-175°

® 60°+ 2% 2F-145°

ONQ) @ © ® © @® 06 0060



14.

oo

% 742o] go] 54 2L ol AYYUA

@ 20°+40° =60° @ 90°+80°=170°
® 1382430° =120° @ 22 Z+50° = 140°

® 250°+70°=2320°



15. g2 Arstel (7h sk (o g& T,

(7}) 400 x 60
() 503} 700 9] &

D L
=%



16. o= 3 =4 4= A

tlo

AE2AQ,

O 248 x 379] 4t 9176 Y T

@ 718 x 52+ 736 x 48 Bt} FUt}.

® (Al AF)x (F & F) 9 AstE @ e A=2E 52
Alitst= Aol E5Uth

@ 307x902307x9x10=(307x9) x 1022 AAS 5=
AFYTE

® [k d7tel 247448 o] w7} Eof A= AR} 3127871 1S o,
v o] 7= B 7460 7R Y Y T



17. 9329 &2 Hlwsto] Oftoll >, < T= = & SUA HE oA L.

360x 18 O 420x 15




=+ 650

&

A Gl

SIA Q..

A

=] 1=
Sl=

o2 vjof

[e3]
=

2]



A 2.

£ 7

1=

M



20. o2 F AXF A7} 100009 71 7R AL of

D 400 x 20

@ 223 x 47

@ 50x 170

® 520 % 36

©)



